Chapter 11 Partnership Goodwill (£ 5 7 %)
11.2 Goodwill (7 %)

Goodwill is the excess of the value of an entire business (& ¥ :F§# § &) over the fair value (market value) (2 &
i) of its separate net assets (¥ 4 &% 3 & ). Goodwill is not a separable asset (¥ 4 33 £ ) as it cannot be sold
separately (4 21 &).

Reasons for the existence of goodwill (FF # %% R F])

® Good reputation (2 4% e )

® Experienced, efficient and reliable employees (3% ¥ § ~ 3cF o7 e 1)

® Good relationships with suppliers and customers (é:'! l*—)%?é foREE 5 L4F M 1R)

These advantages (%) are intangible assets (non-current) (& 352t/ $%) of a business that may contribute to the
existence of goodwill (¥ ¥ 3k 7§ & 35 % ).

11.4 Changes in the profit and loss sharing ratio (3f & & fie b & T %)

The profit and loss sharing ratio is usually a basis on which profits and losses as well as the net assets (tangible and
intangible) of a partnership are to be shared among the partners (f £ ¥ cdf £ 2 3 3~ RNEFT AL L LY
X ). Therefore, whenever there is a change in the profit and loss sharing ratio (4 FEL P F 5 R ), the
share of goodwill by each partner will be affected (& $5 £ 7 B & fe#-% 2 55).

Example 5
Henry and Jason had been partners for a number of years, sharing profits and losses equally. The partners agreed to

change the profit and loss sharing ratio as follows: Henry 2 : Jason 1 with effect from the financial year starting on 1
January 2011. Suppose the partnership’s goodwill was valued for the first time at $150,000.

(a) A goodwill account is opened (F? 3% 7 & & =)
The adjusting entries are (#7F 78 B A k4o ):
Dr  Goodwill account (with the value of goodwill)
Cr  Partners’ capital accounts (with the goodwill shared in the old profit and loss sharing ratio)

Goodwill
2011 S
Jan 1 Capital: Henry 75,000
Jason 75,000
Capital
Henry Jason
2011 S S
Jan 1 Goodwill 75,000 75,000

As the value of goodwill was ascertained before the change in the profit and loss sharing ratio (¢ +* 75 # i & £ &4f
A et e 9 FEE), it should be shared among the partners in the old instead of the new ratio (%] #* B4 v &

M ZEATIL A 3 2 £ 35 4 ). Since a goodwill account is opened, the goodwill balance would be shown separately as

h\\

n intangible non-current asset below tangible non-current assets in the balance sheet (7 >§+E ® AR g b B
ﬁ-?é_f fﬁ £ > T gAsEn fiv?‘g_ s 1&&_7 a5k m f"?é_rﬁ"’ #).

Henry and Jason
Balance Sheet

$ $
Non-current assets
Premises 600,000
Plant and equipment 100,000 700,000
Goodwill 150,000



(b) A goodwill account is not opened (# Ff 3k 7 &tk =)

Since a goodwill account is not opened, there isn’t any goodwill balance in the balance sheet and the effects of the
change in the profit and loss sharing ratio on the share of goodwill would be affected in partners’ capital accounts only
FFEARVFOIREPRLBNPER §F R &P L hF 21 2 ). The calculations of goodwill adjustment

are:
Partner Goodwill in old ratio Goodwill in new ratio Gain (loss) from change Required adjustment

Henry (1/2)$75,000 (2/3)$100,000 $25,000 Dr Capital: Henry $25,000

Jason (1/2)$75,000 (1/3)$50,000 (525,000) Cr Capital: Jason $25,000

Capital

Henry Jason Henry  Jason

2011 $ $ | 2011 $ S

Jan 1 Goodwill adjustment 25,000 - | Jan 1 Goodwill adjustment --- 25,000

If the partnership is later sold, all its assets (including goodwill) will be realized in cash (=% & 5 B #¢ M #F 5§ & X
DR gEhry TA(FIZHE)R-E IR 2R &) The goodwill realized will then be shared among the partners
according to the new profit and loss sharing ratio (@ R F B € & ATerdf £ 4 fe vt F#A ). Therefore, for a
partner who loses goodwill when it is shared in the new ratio, he must be compensated by having his capital account
credited with the amount of the loss (F]¢* » 4rF EP A KAT FHRAFEAF FLXHAPF > HW S PLA 235 0
T Al ?‘ N ﬁ“g&#ﬁi £ £ ). Conversely, for a partner who gains goodwill when it is shared in the new
ratio (4v & § X FATV FHLA F B @ K § PF), he must be charged by having his capital account debited with the
amount of the gain (# F &tk = H = & ¥ & F).

Other method:

Partner Goodwill in old ratio Required entries Goodwill in new ratio Required entries
Henry (1/2)$75,000 Cr Capital: Henry $75,000 (2/3)$100,000 Dr Capital: Henry $100,000
Jason (1/2)$75,000 Cr Capital: Jason $75,000 (1/3)$50,000 Dr Capital: Jason $50,000

$150,000 $150,000
Capital
Henry Jason Henry Jason
2011 s $ | 2011 S $

Jan 1 Goodwill (2:1) 100,000 50,000 | Jan 1 Goodwill (1:1) 75,000 75,000

As a result, Henry is debit balance with $25,000 and Jason is credit balance with $25,000. It is the same as the first

method.



Class work 2

1. P, S and T were in partnership, sharing profits and losses equally. On 31 December 2011, the partnership’s balance

was as follows:

S

Capital: P 100,000
S 100,000

T 100,000

The new profit and loss sharing ratio for P, S and T would be 2 : 2 : 1. Goodwill was valued at $300,000. It was decided

that no account is to be kept for goodwill.

(a) Prepare the partners’ capital accounts at 1 January 2012 in columnar form.

(a)

Partner Goodwill in old ratio Goodwill in new ratio Gain (loss) from change Required adjustment
P (1/3)$100,000 (2/5)$120,000 $20,000 Dr Capital: P $20,000
S (1/3)$100,000 (2/5)$120,000 $20,000 Dr Capital: S $20,000
T (1/3)$100,000 (1/5)$60,000 (540,000) Cr Capital: S $40,000
Capital
P S T P S T
S S $ $ $ $
Goodwill adjustment 20,000; i 20,000 —|Balances b/f 100,000; {100,000; {100,000
Balance c/f 80,000; | 80,000; {140,000|Goodwill adjustment — —i i 40,000
100,000 i{100,000; {140,000 100,000; {100,000 {140,000
or
Capital
P S T P S T
S S $ $ S S
Goodwill (2:2:1) 120,000; {120,000; { 60,000(Balances b/f 100,000; {100,000 {100,000
Balance c/f 80,000; { 80,000; {140,000{Goodwill (1:1:1) 100,000; {100,000 {100,000
200,000: i200,000; {200,000 200,000 {200,000 {200,000




3. Amy, Bob and Cary were in partnership, sharing profits and losses in the ratio of 3 : 2: 1. The partnership’s balance

sheet as at 31 December 2010 was as follows:

Amy, Bob and Cary

Balance Sheet as at 31 December 2010

Non-current assets

Office equipment, at net book value
Motor vehicles, at net book value

Current assets
Inventory

Accounts receivable

Bank

s S
438,000
200,000
638,000
53,551
170,000
131,800 355,351

993,351

Capital account
Amy
Bob
Cary

Current account
Amy
Bob
Cary

Current liabilities
Accounts payable

S S
338,000
200,000

200,000 738,000
80,000
30,000

(10,000) 100,000

155,351

993,351

For personal reasons, Amy decided to spend less time in the partnership. The partners agreed to share the profits and

losses equally with effect from 1 January 2011. Goodwill was to be valued at $450,000.

(a)

(i) agoodwill account was to be opened.

(ii)
(b)

(a) (i)

a goodwill account was not to be opened.

Show the capital accounts (in columnar form) and the balance sheet as at 1 January 2011 if

Prepare the journal entries for the goodwill adjustment in (a). (No narrations are required.)

Capital
Amy Bob Cary Amy Bob Cary
S S S S S S
Balances c¢/d 563,000! | 350,000; {275,000|Balances b/f 338,000{ i 200,000 {200,000
Goodwill 225,000; { 150,000; { 75,000
563,000; | 350,000; {275,000 563,000; { 350,000; {275,000
Amy, Bob and Cary
Balance Sheet as at 1 January 2011
$ $ $ $
Non-current assets Capital account
Office equipment, at net book value; 438,000 Amy 563,000
Motor vehicles, at net book value 200,000 638,000 |Bob 350,000
Goodwill 450,000 |Cary 275,000 1,188,000
1,088,000
Current assets Current account
Inventory 53,551 Amy 80,000
Accounts receivable 170,000 Bob 30,000
Bank 131,800 355,351 |Cary (10,000)
Current liabilities
Accounts payable 155,351
1,443,351 1,443,351
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(a) (ii)

Goodwill Adjustment
Partner | Goodwill in old ratio Required entries Goodwill in new ratio Required entries
Amy (3/6)S 225,000 Cr Capital: Amy $225,000 (1/3)$ 150,000 Dr Capital: Amy $150,000
Bob (2/6)S 150,000 Cr Capital: Bob $150,000 (1/3)S 150,000 Dr Capital: Bob $150,000
Cary (1/6)S$ 75,000 Cr Capital: Cary $75,000 (1/3)$ 150,000 Dr Capital: Cary $150,000
Capital
Amy Bob Cary Amy Bob Cary,
S $ $ S S $
Goodwill (1:1:1) 150,000; { 150,000 | 150,000|Balances b/f 338,000; { 200,000; { 200,000
Balances c/d 413,000; | 200,000; { 125,000|Goodwill (3:2:1) 225,000; { 150,000 75,000
563,000{ | 350,000; | 275,000 563,000{ | 350,000} | 275,000
Amy, Bob and Cary
Balance Sheet as at 1 January 2011
$ $ $ S
Non-current assets Capital account
Office equipment, at net book value 438,000|Amy 413,000
Motor vehicles, at net book value 200,000(Bob 200,000
638,000 |Cary 125,000 738,000
Current assets
Inventory 53,551 Current account
Accounts receivable 170,000 Amy 80,000
Bank 131,800; | 355,351 |Bob 30,000
Cary (10,000) 100,000
Current liabilities
Accounts payable 155,351
933,351 933,351
(b)
Journal
Details Dr Cr
$ $
a(i) | Goodwill 450,000
Capital: Amy 225,000
Capital: Bob 150,000
Capital: Cary 75,000
a(ii) | capital: Cary 75,000
Capital: Amy 75,000
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11.5 Admission of partners (& 45 X 4t »)
Whenever a new partner is admitted, the goodwill of the old partnership has to be valued and adjusting entries are

required in the partners’ capital accounts.

Example 6
Dennis and Eddy were partners, sharing profits and losses equally. On 1, January 2011, the partners agreed to admit

John as a new partner and the new profit and loss sharing ratio would be: Dennis 1 : Eddy 2 : John 2. John brought in
$40,000 cash as capital. On the date of John’s admission, the goodwill of the partnership between Dennis and Eddy was
valued for the first time at $60,000 and the partners’ capital balances were adjusted as follows.

(a) A goodwill account is opened (F? 3 7 2k =)

Goodwill
S
Capital: Dennis 30,000
Eddy 30,000
Capital
Dennis Eddy John
S S S
Cash --- 40,000
Goodwill 30,000 30,000

(b) A goodwill account is not opened (7 B 3K 7§ &tk =)
The effects of the admission of a new partner on the share of goodwill are as follows:

Partner Goodwill in old ratio Goodwill in new ratio | Gain (loss) from change Required adjustment
Dennis (1/2)$30,000 (1/5)$12,000 (518,000) Cr Capital: Dennis $18,000
Eddy (1/2)$30,000 (2/5)$24,000 (56,000) Cr Capital: Eddy $6,000
John — (2/5)$24,000 $24,000 Dr Capital: John $24,000
Capital

Dennis Eddy John Dennis Eddy John

S S S S S S

Goodwill (1:2:2) 12,000 24,000 24,000 | Cash --- 40,000
Goodwill (1:1) 30,000 30,000

New partner pays for his gain in share of goodwill (7 & §5 % Z [ 2 4 #0K § 1 #%)
Sometimes, the new partner may be asked to pay for his gain in share of goodwill. Suppose John brought in $40,000
cash as capital and an additional sum of cash for his share of goodwill (i.e., $24,000)

Capital
Dennis Eddy John Dennis Eddy John
S S $ S S S
Goodwill (1:2:2) 12,000 24,000 24,000 | Cash ($40,000 + $24,000) --- 64,000
Goodwill (1:1) 30,000 30,000

New partner pays the old partners privately for their loss in share of goodwill
Sometimes, the new partner may choose to pay the old partners privately for their loss in share of goodwill (3 F# » &%

EPLEERFTARBEEY A A © P A Hedf 4 ). For example, John paid $18,000 and $6,000 directly
to Dennis and Eddy, respectively. No entries are required for these payments in the partnership books. Moreover, no
adjustments are required for goodwill in the partners’ capital accounts (&t /R > £ J etk p 3 # jodrip it

Ko EPA AT REPLNTAE S P FE A,

12



Class work 3

1. Sand T were in partnership, sharing profits and losses equally. On 31 December 2011, the partnership’s balance was
as follows:

S
Capital: S 100,000
T 100,000

On 1 January 2012, P was admitted to the partnership with an initial capital contribution of $200,000 and profits and
losses are to be shared equally. Goodwill was valued at $300,000. It was decided that no account is to be kept for
goodwill.

Prepare the partners’ capital accounts at 1 January 2012 in columnar form.

Partner Goodwill in old ratio Required entries Goodwill in new ratio Required entries

S (1/2)$150,000 Cr Capital: S $150,000 (1/3)$100,000 Dr Capital: S $100,000

T (1/2)$150,000 Cr Capital: T $150,000 (1/3)$100,000 Dr Capital: T $100,000

P — — (1/3)$100,000 Dr Capital: P $100,000

Capital

S T P S T P
$ $ $ $ $ $
Goodwill (1:1:1) 100,000; {100,000; {100,000|(Balances b/f 100,000: {100,000 —
Balance c/f 150,000 {150,000; {100,000{Goodwill (1 : 1) 150,000: {150,000 —
Cash at bank — —i {200,000
250,000; i250,000; {200,000 250,000 {250,000; {200,000

2. Andy, Ben, Derek have been in partnership, sharing profits and losses in the ratio of 3 : 2 : 5, respectively. Their
capital accounts showed the following balances as at 31 December 2010:

Andy 25,000 Cr
Ben 18,000 Cr
Derek 32,000 Cr

On 1 Jul 2011, Eason was admitted to the partnership with an initial capital contribution of $25,000. Goodwill was
valued at $20,000. The new profit and loss sharing ratio would be Andy 4 : Ben 3 : Derek 2 : Eason 1. Show the
required entries in the partners’ capital accounts in columnar form.

Goodwill Adjustment
Partner Goodwill in old ratio Goodwill in new ratio
Andy (3/10)$6,000 (4/10)$8,000
Ben (2/10)$4,000 (3/10)$6,000
Derek (5/10)$10,000 (2/10)$4,000
Eason - (1/10)$2,000
Capital
Andy Ben Derek Eason Andy Ben Derek Eason
$ $ $ $ $ $ $ $
Goodwill (4:3:2:1){ 8,000 6,000 4,000 2,000 |Balances b/d 25,000 18,000 32,000 —
Balances c/d 23,000 16,000 38,000 23,000 |[Cash at bank — — — 25,000
Goodwill (3:2:5) 6,000 4,000 10,000 —
31,000 22,000 42,000 25,000 31,000 22,000 42,000 25,000
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4. Lee, Mok and Siu were in partnership. They shared profits and losses in the ratio of 2 : 5 : 3. It was decided to admit
a new partner, Lui. The goodwill of the old partnership was valued at $10,000, but this had not been recorded in the
books. Lui brought in $4,000 cash as capital. The new profit and loss sharing ratio would be Lee 3 : Mok 4 : Siu 2 :
Lui 1. The balance sheet before Lui’s admission was as follows:

Balance Sheet

Assets (other than cash) 11,00(5)
Cash 2,500
13,500
Capital: Lee 3,000
Mok 5,000
Siu 4,000
Accounts payable 1,500
13,500
(a) Draw up the capital account of Lee, Mok, Siu and Lui in columnar form, showing necessary entries.
(b) Prepare the journal entries to record Lui’s admission. (No narrations are required.)
(c) Prepare the balance sheet after Lui had been admitted.
(a)
Goodwill Adjustment
Partner | Goodwill in old ratio Goodwill in new ratio
Lee (2/10)$2,000 (3/10)$3,000
Mok (5/10)55,000 (4/10)54,000
Siu (3/10)$3,000 (2/10)$2,000
Lui (1/10)$1,000
Capital
Lee Mok Siu Lui Lee Mok Siu Lui
$ S S $ $ $ $ $
Goodwill(3:4:2:1) 3,000{ { 4,000 | 2,000{ { 1,000(Balances b/f 3,000; | 5,000 i 4,000
Balances c/d 2,000 | 6,000{ i 5,000; ;| 3,000|Goodwill(2:5:3) 2,000; | 5,000 i 3,000
Cash --- --- --- 1 4,000
5,000 {10,000; { 7,000; i 4,000 5,000 {10,000 i 7,000 : 4,000
(b)
Journal
Details Dr Cr
S $
Cash 4,000
Capital: Lee 1,000
Capital: Mok 1,000
Capital: Siu 1,000
Capital: Lui 3,000
(c)
Balance Sheet
$ S
Assets (other than cash) 11,000
Cash (52,500 + $4,000) 6,500
17,500
Capital: Lee 2,000
Mok 6,000
Siu 5,000
Lui 3,000 16,000
Accounts payable 1,500
17,500
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HKCEE (2008, 6)

Dave and Eva were in partnership sharing profits and losses in the ratio of 2 : 1 respectively. Their balance sheet as at

31 December 2006 was as follows:

Balance Sheet as at 31 December 2006

Fixed Assets
Office equipment (net)
Motor vehicles (net)

Current Assets
Stock
Debtors

S s
202,000
156,000
358,000

41,600
40,000 81,600
439,600

Capital Accounts
Dave
Eva

Current Accounts
Dave
Eva

Current Liabilities
Bank Overdraft
Creditors

S S
300,000
63,000 363,000
26,600
(48,000) (21,400)
36,000
62,000 98,000
439,600

On 1 January 2007, Dave invited Fred, the manager, to join the partnership on the following terms:

(i)  Fred’s initial capital was agreed at $100,000, although he would only bring in $25,000 cash as capital. The

difference was settled by a personal loan from Dave to Fred, through a transfer between the capital accounts.

(i) Goodwill was estimated at $60,000. No goodwill account was to remain in the books of the partnership. Fred

would bring in additional cash for his share of goodwill.

(iii) Dave, Eva and Fred were to share profits and losses in the ratio of 2 : 1 : 1 respectively.

(iv) Fred was to receive a salary of $5,000 per month.

No current accounts were to be maintained for the partners in the new partnership. The existing balances were to be

transferred to the partners’ respective capital accounts.

REQUIRED:

(a) Prepare the capital account of Dave, Eva and Fred in columnar form to record Fred’s admission.

(a)

Capital
Dave Eva Fred Dave Eva Fred
S S S S S S
Goodwill (2:1:1) 30,000 { 15,000 | 15,000|Balances b/d 300,000; | 63,000 —
Current —i 1 48,000 —|Goodwill (2:1) 40,000 { 20,000 —
Capital — Fred 75,000 — —|Cash (525,000 + $15,000) — —i | 40,000
Balances c/d 261,600 i 20,000; i{100,000|Current 26,600 — —
Capital — Dave — —i i 75,000
366,600; | 83,000; {115,000 366,600; | 83,000; {115,000
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11.6 Withdrawal or death of partners

Whenever an old partner withdraws (death, ill health, retirement or other reasons) from a partnership, the goodwill of
the partnership has to be valued and adjusting entries are required in the partners’ capital accounts. The current
account of the withdraw partner must transfer to the capital account of that partner.

Example 7
Harry, Irene and Joe were partners, sharing profits and losses equally. On 1 January 2011, the first day of the new

financial year, Joe would leave and the remaining partners would continue to share profits and losses equally. On the
date of Joe’s withdrawal, the capital balances of the partners were: Harry $50,000, Irene $50,000, Joe $40,000; and the
goodwill of the partnership was valued for the first time at $45,000. The partners’ capital balances were adjusted as
follows:

(a) A goodwill account is opened

Goodwill
2011 S
Jan 1 Capital: Harry 15,000
Irene 15,000
Joe 15,000
Capital
Harry Irene Joe Harry Irene Joe
2011 S S S| 2011 S S S
Jan 1 Cash — — 55,000 | Jan 1 Balance b/f 50,000 50,000 40,000
“ 31 Balancec/f 65,000 65,000 — “ 1 Goodwill 15,000 15,000 15,000
65,000 65,000 55,000 65,000 65,000 55,000

(b) A goodwill account is not opened
The effects of the withdrawal of an old partner on the share of goodwill are as follows:

Partner Goodwill in old ratio Goodwill in new ratio | Gain (loss) from change Required adjustment
Harry (1/3)$15,000 (1/2)$22,500 $7,500 Dr Capital: Harry $7,500
Irene (1/3)$15,000 (1/2)$22,500 $7,500 Dr Capital: Irene $7,500

Joe (1/3)$15,000 ($15,000) Cr Capital: Joe $15,000
Capital

Harry Irene Joe Harry Irene Joe

2011 S S S | 2011 S S S

Jan 1 Goodwill(1:1) 22,500 22,500 --- | Jan 1 Balance b/f 50,000 50,000 40,000

“ 1 Goodwill (1:1:1) 15,000 15,000 15,000

After adjustments, Joe’s capital balance amounted to $55,000. This balance is the same whether a goodwill account is
opened or not. Joe should be paid $55,000 on his withdrawal. The required double entry for this is:

Dr Joe’s capital account $55,000
Cr Cash/Bank accounts $55,000
Capital

Harry Irene Joe Harry Irene Joe
2011 S S S | 2011 S S S
Jan 1 Goodwill(1:1) 22,500 22,500 --- | Jan 1 Balance b/f 50,000 50,000 40,000
“ 1 Cash/Bank 55,000 “ 1 Goodwill (1:1:1) 15,000 15,000 15,000

“ 31 Balance c/f 42,500 42,500 -
65,000 65,000 55,000 65,000 65,000 55,000

Again, if existing partners gain goodwill when it is shared in the new ratio, they must be charged by having their capital
account debited with the amount of the gain.
Sometimes the withdrawing partner may not take away all his capital (and current account) balance(s) in cash. He may
leave part of it with the new partnership as a loan.
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Example 8

Suppose Joe take away half of his capital balance in cash on withdrawal and left the other half with the new
partnership as a loan. The capital accounts would appear as follows:

Capital

Harry Irene Joe Harry Irene Joe
2011 S S S| 2011 S S S
Jan 1 Goodwill(1:1) 22,500 22,500 --- | Jan 1 Balance b/f 50,000 50,000 40,000
“ 1 Cash/Bank 27,500 “ 1 Goodwill (1:1:1) 15,000 15,000 15,000

“ 1 Loan from Joe -—- -—- 27,500

“ 31 Balance c/f 42,500 42,500 ---
65,000 65,000 55,000 65,000 65,000 55,000

The loan from Joe would be shown as a liability in the balance sheet of the new partnership subsequently, and interest

might be charged on it.

Class work 4

1. Chiu, Ho and Kan had been in partnership for many years, sharing profits and losses in the ratio of 4 : 3 : 1. As at 31
March 2010, their capital accounts and current accounts showed the following balances:
Current accounts
$5,620 Cr
$2,350 Dr
$6,180 Cr

Capital accounts

Chiu $80,000 Cr
Ho $60,000 Cr
Kan $20,000 Cr

As there were conflicts, they decided to let Ho withdraw and get back his capital balance on 1 April 2010. The new
profit and loss sharing ratio would be: Chiu 4 : Kan 1.

(a) If the partnership’s goodwill was valued at $16,000 and goodwill account was not to be opened. Show the
necessary entries in the capital accounts on the withdrawal of Ho.

(b) Explain why a partner’s current account may show a debit balance instead of a credit balance.

(a)

Capital
Chiu Ho Kan Chiu Ho Kan
$ $ $ S $ S
Goodwill (4: 1) 12,800 3,200 | Balances b/f 80,000 60,000 20,000
Current: Ho 2,350 - | Goodwill (4:3:1) 8,000 6,000 2,000
Cash at Bank - 63,650 -
Balances c/d 75,200 --- 18,800
88,000 66,000 22,000 88,000 66,000 22,000

(b)  When a partner’s current account shows a debit balance, this means that he is indebted to the

partnership. This situation may arise when a partnership has incurred a substantial loss one year or a

partner has taken out more than his balance of undrawn profits from the partnership.

2. Fong, Ma and Kwan sharing profits and losses in the ratio of 5 : 3 : 2. As at 30 June 2009, their capital accounts
showed the following credit balances: Fong $50,000, Ma $30,000, Kwan $20,000. Fong decided to retire on 1 July
2009. But he agreed to leave half of his capital balance with the firm as a loan. The new profit and loss sharing ratio
would be: Ma 4 : Kwan 3. If goodwill was valued at $14,000 upon the withdrawal of Fong, show the necessary
entries in the capital accounts in columnar form if a goodwill account was not to be opened.

Capital
Fong Ma Kwan Fong Ma Kwan
$ $ $ $ $ $
Goodwill (4 : 3) - 8,000 6,000 | Balances b/f 50,000 30,000 20,000
Cash at Bank 28,500 --- --- | Goodwill (5:3:2) 7,000 4,200 2,800
Loan from Fong 28,500 - -
Balances c¢/d -—-- 26,200 16,800
57,000 34,200 22,800 57,000 34,200 22,800




3. Benson, Cindy and Derek have been in partnership, sharing profits and losses in the ratio of 2 : 4 : 1, respectively.

Their capital accounts and current accounts showed the following balances as at 31 December 2010:

Capital account:

Benson $180,000 Cr

Cindy

§270,000Cr D

erek $320,000 Cr

Profit and Loss Appropriation

$ $
Profit and loss (net profit) 509,000
Less: Salary to partner — Current: Benson 60,000
— Current: Cindy 60,000
— Current: Derek 60,000 180,000
329,000
Share of profit
— Current: Benson (2/7) 94,000
— Current: Cindy (4/7) 188,000
— Current: Derek (1/7) 47,000
329,000

On 1 September 2011, Eason was admitted to the partnership with an initial capital contribution of $250,000. The
new profit and loss sharing ratio would be: Benson 2 : Eason 2 : Derek 1 and Goodwill was valued at $255,000. A
goodwill account was maintained in the partnership’s books.

(b)  Prepare the partners’ capital accounts as at 1 September 2011.

(a)

Current
Benson{ | Cindy Derek Benson Cindy Derek
S S $ S $ $
Balance b/f —ii 12,560 —|Balances b/f 42,100 —i i 57,080
Drawings 1,340 5,200 6,000|P&L App: Salaries 60,000; { 60,000 { 60,000
Capital: Cindy 230,240 P&L App: Share of profiti 94,000; {188,000 i 47,000

Balances c/f 194,760 —i {158,080
196,100{ i{248,000; {164,080 196,100; {248,000; {164,080
Profit after appropriation = $509,000 - $60,000 x 3 = $329,000
Share of profit : Benson = $329,000 x 2/7 = 94,000, Cindy = $329,000 x 4/7 = 188, 000, Derek = $329,000 x 1/7 = 47, 000

Capital
Benson; { Cindy Derek Benson Cindy Derek
$ $ $ $ $ $
Goodwill (2:1) 140,000 — 70,000|Balances b/f 180,000; | 270,000i | 320,000
Bank —! 1 620,240 —|Goodwill (2:4:1) 60,000; | 120,000 | 30,000
Balances c/d 200,000 —i 1 280,000|Current: Cindy —i 230,240 —
240,000; | 620,240; i 350,000 240,000; { 620,240; i 350,000

(b)

Capital
Benson Eason Derek Benson Eason Derek
$ $ $ $ $ $
Balances c¢/d 370,000; i{250,000; {365,000(Balances b/d 200,000 —{ 1280,000
Bank —i {250,000 —
Goodwill 170,000 —i i 85,000
370,000: i250,000: {365,000 370,000: i250,000; :365,000
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13X
Chung and Wun were partners, sharing profits and losses in the ratio of 2 : 1. They agreed that interest was to be
allowed on capital balances at 8% per annum. Interest of 10% per annum would be charged on drawings.

The capital and current account balances as at 31 December 2009 were as follows:

Capital Current
Chung $60,000 $37,600
Wun $40,000 $7,800 Dr

They agreed to admit their finance manager, Tang, as a partner on 1 January 2010 on the following terms:
(i) Goodwill of the old partnership was valued at $36,000. No goodwill account was to be opened.

(i)  The new profit and loss sharing ratio was: Chung 4, Wun 3 and Tang 3.

(iii) Tang was to be paid an annual salary of $36,000 on the last day of each financial year.

(iv) Tang brought in cash of $20,000 on 1 January 2010.

Additional information:

1 The net profit before appropriations for the year ended 31 December 2010 was calculated as $180,000. However, it
was found that insurance on Tang’s private car of $2,000 had been charged as a business expense. In addition, a
sales invoice of $3,600 and a purchases invoice of $9,800, had been completely omitted from the books.

2 The drawings made in the year 2010 were as follows:

Chung Wun Tang
1 April $60,000 — —
1 July $10,000 — $48,000
1 October $10,000 — —

You are required to:

(a) Prepare an income statement (extract) for the partnership for the year ended 31 December 2010.
(b) Draw up the partners’ current accounts for the year ended 31 December 2010.

(c) Draw up the partners’ capital accounts for the year ended 31 December 2010.

(a)
Chung, Wun and Tang
Income Statement for the year ended 31 December 2010 (extract)

s S s
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(b)

Current
Chung Wun Tang Chung Wun Tang
$ $ $ $ $ $
(c)
Capital
Chung Wun Tang Chung Wun Tang
$ $ $ $ $ $
Goodwill (4:3:3) 14,400 | 10,800 { 10,800 Balance b/f 60,000 40,000 —
Balance c/d 69,600; { 41,200 9,200 |Goodwill (2 : 1) 24,000 12,000 —
Cash — —i { 20,000
84,000| | 52,000| { 20,000 84,000 52,000( { 20,000
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